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; 100kN/m##8%%| 1.00| 000 ~ 116 11750 |3mEBZB| — ~ — — — | 100kN/MiZ#BZ25 | 1.00 | 1268 ~ 1969 117.50 |3mERZS -~ — — —
ZznLst 1.00 | 1.16 ~ 894 100.00 | =nLs | 000 ~ 894210 11.22 Zzh s 1.00 | 5.00 ~ 1268 100.00 | #nSt | 6,00 ~ 1969 2.10 11.22
2 100kN/m##8%%5| 1.00| 000 ~ 088 11312 |3mEBZB| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1269 ~ 1738 11312 |3mZEiBZ5 -~ — — —
Zhnst 1.001 088 ~ 866 100.00| ThLs | 0oo ~ 866|210 11.22 zh st 1.00 | 5.00 ~ 1269 100.00 | #nLS | 500 ~ 1738 2.10 11.22
3 100kN/m##8%%5| 1.00| 000 ~ 122 11845 |3mEBZB| — ~ — — — | 100kN/MiZ# 825 | 1.00 | 11.22 ~ 1619 11845 |3mEBRZS -~ — — —
zh st 100|122 ~ 9.01 100.00 | #hst | 000 ~ 901|220 11.76 ZThLLst 1.00 | 5.00 ~ 1122 100.00 | #hS | 500 ~ 1619 | 2.20 11.76
4 100kN/m##8%%| 1.00| 000 ~ 012 101.80 |3mEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1089 ~ 1125 101.80 |3m%E#BZ3 -~ — — —
Zzhnst 100|012 ~ 791 100.00 | #hst | 000 ~ 791|206 11.05 ZThLLst 1.00 | 5.00 ~ 1089 100.00 | =nS | 5,00 ~ 1125 2.06 11.06
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.00 | 0.00 ~ 5.96 74.65 | TnLSY | 000 ~ 596 1.87 9.99 Zzh st 1.00 | 5.00 ~ 7.00 74.65 | =ns | 6.00 ~ 7.00)]1.87 9.99
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 548 68.38 | Thst | 000 ~ 548175 9.37 ZThLLst 1.00 | 5.00 ~ 6.00 68.38 | =S | 5,00 ~ 6.00|1.75 9.37
- 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.00 | 0.00 ~ 6.97 88.29 | #nhst | 0oo ~ 000| 1.65 8.84 ZFhLst 1.00 | 5.00 ~ 894 8829 | #ns | 5,00 ~ 894 | 1.65 8.84
s 100kN/mM##BZ 5 — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
LS 1.00 000 ~ 718 91.34 | #ndst | ooo ~ 718|245 13.11 zhst 1.00 | 5.00 ~ 1019 91.34 | NS | 5.00 ~ 1019 2.45 13.11
9 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZ S -~ — — —
Zh s 1.00 | 0.00 ~ 688 8711 | #Fhlst | 0.00 ~ 688| 1.89 10.10 ZThLlst 1.00 | 500 ~ 880 87.11 | #nst | 500 ~ 880|189 10.10
10 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
Zh s 1.00 1 000 ~ 4.70 58.60 | FnhLst | 000 ~ 0.00| 1.64 876 Tnelst 1.00 | 5.00 ~ 5.00 5860 | TnS | 500 ~ 500 | 1.64 876
17 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EiEZ S -~ — — —
Zh s 1.00 1000 ~ 675 85.36 | #nLst | 000 ~ 675|173 9.24 Zhs 1.00| 500 ~ 822 85.36 | #ns | 500 ~ 822|175 9.24
12 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/ M %825 — - ~ — — |3mZEiEBZ D - ~ — — —
Zh st 1.00 | 000 ~ 765 98.03 | FnS | 000 ~ 7.65)1.93 10.33 Zh st 1.00 | 5.00 ~ 1215 98.03 | NS | 65,00 ~ 1215| 1.93 10.33
19 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/M%E#B 25 — - ~ — — |3mEEZ D - ~ — — —
Zh st 1.00 | 000 ~ 728 92.74 | FnLS | 000 ~ 728 1.98 10.62 Zh st 1.00 | 6,00 ~ 10.15 92.74 | NS | 5,00 ~ 1015 1.98 10.62
14 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/M%E#B 25 — - ~ — — |3mEEZ D - ~ — — —
zh st 1.00 | 000 ~ 746 95.23 | FnLS | 000 ~ 746 1.93 10.33 Zh st 1.00 | 5.00 ~ 1145 95.23 | NS | 65,00 ~ 11.45|1.93 10.33
15 100kN/mM%#EZ % — -~ — —|3mEEZB| — ~ — — — | 100kN/ Mm% #8235 — - ~ — — |3m%EiEZ D - ~ — —
st 1.00 | 000 ~ 6.51 81.99 | #hdst | 0oo ~ 651|173 9.24 ZzhLs 1.00 | 5.00 ~ 7.74 81.99 | #hs | 6.00 ~ 7.74|1.73 9.24_
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16 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 1 000 ~ 5696 74.66 | =nLSY | 000 ~ 0.00] 1.69 9.02 Zzh s 1.00 | 5.00 ~ 6.82 74.66 | EnLS | 65,00 ~ 6.82 | 1.69 9.02
17 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 | 0.00 ~ 5.30 66.13 | TN | 000 ~ 000 1.57 8.38 Zzh st 1.00 | 5.00 ~ 6.23 66.13 | TN | 65,00 ~ 6231567 8.38
19 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.71 84.82 | #hdst | 0oo ~ 000 1.63 8.74 Zzh st 1.00 | 5.00 ~ 8.51 84.82 | #hst | 5.00 ~ 8561 | 1.63 8.74
19 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.44 81.10 | #hdst | oo ~ 000| 1.66 8.89 Zzh st 1.00 | 5.00 ~ 7.78 81.10 | #hst | 5.00 ~ 7.78| 1.66 8.89
20 100kN/m##8%%5| 1.00| 000 ~ 039 10573 |3mEBZB| — ~ — — — | 100kN/mi%#8 2% | 1.00 | 10564 ~ 1161 1056.73 |3m&HAS -~ — — —
zhnst 1001039 ~ 817 100.00| Ths | 0oo ~ 817|217 11.59 ZThLLst 1.00 | 5.00 ~ 1054 100.00 | TnLS | 500 ~ 1161|217 11.59
27 100kN/m##8%%5| 1.00| 000 ~ 029 10428 |3mEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 10565 ~ 11.34| 104.28 |3m%E#BZ3 -~ — — —
Zzhnst 1.001 029 ~ 808| 100.00| FThis | 000 ~ 808|216 11.56 zh st 1.00 | 5.00 ~ 1055 100.00 | #nS | 500 ~ 1134|216 11.66
29 100kN/m##8%2%5| 1.00| 000 ~ 016 10228 |3mEBZB| — ~ — — — | 100kN/m%#BZ 5| 1.00 | 10564 ~ 1095 10228 |3mZEiBZ5 -~ — — —
Zh s 1.00 | 016 ~ 794 100.00| TnLs | 0oo ~ 794|221 11.85 Zh st 1.00|5.00 ~ 1054 100.00| Thst | 500 ~ 1095|221 11.85
23 100kN/mM##BZ 5 — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
zh s 1.00 | 000 ~ 634 79.72 | TS | 000 ~ 654|174 9.34 ThLLst 1.00| 500 ~ 742 79.72 | TS | 500 ~ 742 1.74 9.34
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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